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Sample Paper 2010
Subject – Mathematics
Class – XII

Time : 3 hours                                         

                                           M.M. :  100

General Instructions:

All questions are compulsory.

Questions 1 to 10 is of ONE mark each.

Questions 11 to 22 are of FOUR marks each.

Questions 23 to 29 are of SIX marks each                                                                                                                      .                                                                                                   
Q1. Find the value of x and y if 
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Q2. Evaluate: 
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Q3. Find the principal value of 
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Q4. Show that the vectors 
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are perpendicular.
Q5. If A is 
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square matrix and 
[image: image7.wmf]A

=2, then find 
[image: image8.wmf].

adjA

.

Q6. Consider the binary operation 
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[image: image10.wmf]{

}

1,2,3,4

defined by 
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Q7. If A and B are two non singular matrices of order 
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Q8. Find the equation of line that passes through 
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Q9. Write the points where the functions 
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is not differentiable.

Q10. Find the angle between two vectors 
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Q11. Prove that 
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is an increasing function of x in 
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   Find the equation of tangent to the curve 
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Q12. If 
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for all 
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OR

  Let 
[image: image30.wmf]be the set of all lines in XY-plane and 
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Q13. Evaluate: 
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Q14. Using properties of determinants, prove that 
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Q15. Solve the differential equation : 
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Q16. If 
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Find the value of 
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s. t. the function 
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 is a continuous function.

Q17.Find the equation of plane which is perpendicular to the plane 
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and which contains the line of intersection of the plane 
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Q18. Show that 
[image: image46.wmf]111

3884

sinsincos

51785

---

-=

.

Q19. Find the equation of the curve passing through the point 
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Q20. Three vectors 
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Find area of triangle having the points 
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Q21. If 
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Q22.On a multiple choise examination with three possible answers for each of the five questions, what is the probability that a candidate would get four or more correct answers  just by guessing?
Q23. Find the image of the point 
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Q24. Using integration, find the area of the region bounded by the parabola 
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OR
Using integration, find the area bounded by the lines 
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Q25. If 
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Q26. Evaluate: 
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 as the  limit of sum.

Q27. Given three identical boxes I, II and III, each containing two coins. In box I, both coins are gold coins, in box II, both are silver coins and in box III, there is one gold and one silver coin. A person chooses a box at random and takes out a coin. If the coin is of gold, what is the probability that the other coin in the box is also of gold?

Q28. Show that the right circular cylinder of given surface and maximum volume is such that its height is equal to the diameter of the base.
Q29. A furniture dealer deals only in two items; tables and chairs. He has only Rs. 6,000 to invest and has a space for atmost 20 items. A table cost him Rs. 400 and a chair Rs. 250. He can sell a table at a profit of Rs. 25 and a chair for a profit of Rs. 40. Supposing that he can sell whatever he buys, formulate the problem as L.P.P. and solve it graphically for maximum profit.
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